
Woodman’s Parts Plus 
www.woodmanspartsplus.com 

Flame XLT-II Parts List 

Note that the quantities listed here below are the standard amounts that are found in each unit and not 

the number of items you need to order.  

# Item # Description Qty/Unit 

1 AC07860 1/2 " BRASS PLATED COIL HANDLE 1 

2 AC09173 REMPLACEMENT HANDLE AND LATCH KIT 1 

3 PL53951 DOOR HANDLE SHAFT 1 

4 30205 ZINC WASHER ID 13/32" X OD 13/16" 3 

5 30533 LATCH KEY PATH PIN 1 

6 30033 STEEL DOOR LATCH 1 

7 30224 LOCKNUT 3/8"-16 HEX 1 

8 SE24115 CAST IRON DOOR WITH GASKET 1 

9 AC06500 SILICONE AND 5/8" X 8' BLACK GASKET KIT 1 

10 30123 SCREW #8 - 32 X 5/8'' PAN QUADREX ZINC 2 

11 30169 DOOR HINGE PIN 5/16'' DIA. X 1 3/4" LONG 2 

12 30055 HINGE PIN RETAINING RING 5/16" ID X 0.512" OD 2 

13 AC06400 BLACK SELF-ADHESIVE GLASS GASKET KIT (6') 1 

14 SE53930-01 REPLACEMENT GLASS WITH GASKET 8 3/4" X 17" 1 

15 PL53936 GLASS RETAINER FRAME 2 

16 PL55065 GLASS RETEINER 6 

17 30124 SCREW #8 - 32 X 5/16'' TRUSS QUADREX ZINC 6 

18 PL57256 BOTTOM HEAT SHIELD 1 

19 21143 BOTTOM HEAT SHIELD INSULATION 1 

20 PL06703 BRASS DECORATIVE ASH LIP TRIM 1 

21 AC07864 1/4 " BRASS PLATED LONG COIL HANDLE 1 

22 30125 MECHANICAL SCREW #8 X 1 1/4" QUADREX ZINC 2 

23 PL55015 AIR CONTROL COVER 1 

https://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

24 30094 HEX SCREW WASHER HEAD 1/4-20 X 3/4" F ZINC TYPE 2 

25 30428 BUSHING 2 

26 SE55013 AIR CONTROL SLIDE 1 

27 SE45158 FLAME EPA WOOD STOVE MANUAL KIT 1 

28 VP00006 2" X 3" X 1 1/4" REFRACTORY BRICK 1 

29 AC07700 REFRACTORY BRICK 4 1/2'' X 9" X 1 1/4'' (MASTER PACK OF 9) 18 

30 PL36017 1 3/4" X 8'' X 1 1/4'' REFRACTORY BRICK 1 

31 PL36018 2 1/4" X 8 3/4'' X 1 1/4'' REFRACTORY BRICK 1 

32 29011 4'' X 9" X 1 1/4" REFRACTORY BRICK HD 5 

33 21200 9'' X 2'' X 1 1/4'' REAR BRICK WITH HOLE 1 

34 99999 BUILD TO ORDER 1 

35 30068 STAINLESS STEEL COTTER PIN 1/8" X 1 1/2" 3 

36 PL57275 SECONDARY AIR TUBE 1 

37 PL57276 SECONDARY AIR TUBE 2 

38 21214 20" X 12" X 1 1/4" VERMICULITE BAFFLE 1 

39 21142 BAFFLE INSULATION 12'' X 24'' X 1/2'' 1 

40 PL34026 BAFFLE INSULATION WEIGHT 1 

 

https://www.woodmanspartsplus.com/

